

	MINUTES OF MEETING OF PRO	CUREMENT COMMITT	ree
Date of Meeting:	17-06-2025	Time:	11:30 AM
Location:	608-Shaheen Complex, Ege	rton Road, Lahore	

Participants

- 1. Imran Ali Sultan, Program Director, PMIU-PAHP
- 2. Representative of PHATA
- 3. Hamza Abdul Rauf, Manager Procurement, Urban Unit
- 4. Muhammad Aamer Nazeer, Sr. Specialist Procurement, PMIU-PAHP
- 5. Asif Iqbal, Senior Specialist, Financial Management, PMIU-PAHP
- 6. Waqar Hussain, Specialist Procurement, PMIU-PAHP.
- 7. Muhammad Usman, Manager (Admin & Accounts), PMIU-PAHP.

Background

01

The meeting was convened by the Program Director PAHP vide letter No. PD/PMIU/PAHP/2025 dated June 16, 2025 to discuss the following agenda items:

- Opening and evaluation of received Quotations for Supply & Installation of Split and Floor Standing Inverter
 Air Conditioning Units
 - **Lot-1** Split Inverter Air Conditioning Units (18000 BTUs) 04 Units, Floor-Standing Inverter Air Conditioning Units (24000 BTUs)-04 Units
 - **Lot-2** Installation of Split Inverter Air Conditioning Units (18000 BTUs) (04 Nos) & Floor-Standing Inverter Air (24000 BTUs) (04 Nos)

S/N Discussion & Decisions

<u>Agenda#01</u> Opening and evaluation of received Quotations for Supply & Installation of Split and Floor Standing Inverter Air Conditioning Units

Lot-1 Split Inverter Air Conditioning Units (18000 BTUs) - 04 Units, Floor-Standing Inverter Air Conditioning Units (24000 BTUs)-04 Units

Lot-2 Installation of Split Inverter Air Conditioning Units (18000 BTUs) (04 Nos) & Floor-Standing Inverter Air (24000 BTUs) (04 Nos).

The Procurement Committee (PC) was briefed that RFQ document was issued to the potential firms on 13.06.2025 and uploaded on the website of PMIU, PAHP with the closing date of submission of quotation on or before 17.06.2025 at 11:00 AM. In response to RFQ document the following firms participated till closing date and time for Lot-1 Split Inverter Air Conditioning Units (18000 BTUs) - 04 Units, Floor-Standing Inverter Air Conditioning Units (24000 BTUs)-04 Units:

- i. M/s. Al- Fatah Associates
- ii. M/s. Pakistan Best Services
- iii. M/s. SBG Enterprises

K John Mr Fremi Mr

Page 1 of 4



S/N Discussion & Decisions

- iv. M/s. Azan Traders
- v. M/s. ServElectric Proprietor

Similarly, the following firms submitted their quotations for Lot-2 Installation of Split Inverter Air Conditioning Units (18000 BTUs) (04 Nos) & Floor-Standing Inverter Air (24000 BTUs) (04 Nos):

- i. M/s. Pakistan Best Services
- ii. M/s. SBG Enterprises
- iii. M/s. Azan Traders
- iv. M/s. ServElectric Proprietor

All above mentioned, firms submitted their quotations which were publically, opened and readout the lotwise quoted brands/ models and prices by the Procurement Committee in the presence of the representatives of the firms who attended. The detail of quoted brands/model and prices by the firms are given as under;

Sr. No.	Name of Firm	Quoted Brand/Model	Quoted Price (Inclusive Taxes)
	plit Inverter Air Condition oning Units (24000 BTUs)-	ning Units (18000 BTUs) - 04 Units, Floor-Si	tanding Inverter Air
1	M/s. Al- Fatah Associates	i. Haier Inverter HSU-19HFAB T-3 ii. Haier Inverter Cabinet HP 24 HE	1,808,000/-
2	M/s. ServElectric Proprietor	i. Haier Inverter HSU-19HFAB T-3 ii. Haier Inverter Cabinet HP 24 HE	2,242,000/-
3	M/s. Pakistan best Services	i. Gree 15. Ton GS-18FIT H5WBii. Hisense AC Floor Standing Inverter 2.0 Ton 24UR4RJJ1	2,548,800
4	M/s. Azan Traders	i. 18HRFN-8 (1.5 Ton) Midea E Series ii. Midea (2 Ton) E Series MSCBIDU 24	2,652,640
5	M/s. SBG Enterprises	i. Gree 1.5 Ton GS-18FITH1C ii. Gree 2.0 Ton GF-24TFIH	2,832,000
	Air (24000 BTUs) (04 Nos)	Air Conditioning Units (18000 BTUs) (04 No	s) & Floor-Standing
1	M/s. ServElectric Proprietor	Customized	1,361,189
2	M/s. Pakistan best Services	Customized	1,844,163
3	M/s. Azan Traders	Customized	1,972,960
4	M/s. SBG Enterprises	Customized	2,148,072

Jestini,

M. X

Page 2 of



S/N

Discussion & Decisions

Afterward, the Procurement Committee evaluated the lot wise quotations as per eligibility criteria defined in the RFQ document. The detailed Evaluation Report is placed at (**Annex-A**) as per detail given below:

Sr. No.	Name of Firm	Arithmetic Corrected Price (Inclusive of taxes) in PKR	Status of firm
THE PERSON NAMED AND POST OF THE PERSON NAMED IN	olit Inverter Air Conditioning Oning Units (24000 BTUs)-04		s) - 04 Units, Floor-Standing Inverter Air
1	M/s. Al- Fatah Associates	1,808,000	The firm is selected being lowest evaluated and most advantageous firm.
2	M/s. ServElectric Proprietor	2,242,000	The firm is ranked as 2 nd due to comparatively higher price.
3	M/s. Pakistan best Services	2,548,800	The firm is ranked as 3 rd due to comparatively higher price.
4	M/s. Azan Traders	2,652,640	The firm is ranked as 4th due to comparatively higher price.
5	M/s. SBG Enterprises	2,832,000	The firm is ranked 5 th due to comparatively higher price.
	stallation of Split Inverter Air (24000 BTUs) (04 Nos):	Air Conditioning l	Units (18000 BTUs) (04 Nos) & Floor-Standing
01	M/s. ServElectric Proprietor	1,337,589	The firm is selected being lowest evaluated and most advantageous firm.
02	M/s. Pakistan best Services	1,844,163	The firm is ranked as 2 nd due to comparatively higher price.
03	M/s. Azan Traders	1,972,960	The firm is ranked as 3 rd due to comparatively higher price.
04	M/s. SBG Enterprises	2,148,072	The firm is ranked as 4 th due to comparatively highest price.

The Procurement Committee reviewed the evaluation report alongwith original quotations, based on the detailed evaluation, it was concluded that M/s. Al- Fatah Associates have submitted the lowest evaluated price of Rs. 1,808,000/- (inclusive of all applicable taxes), for LOT-1 (Split Inverter Air Conditioning Units (18000 BTUs) - 04 Units, Floor-Standing Inverter Air Conditioning Units (24000 BTUs)-04 Units) and M/s. ServElectric have submitted the lowest evaluated price of Rs. 1,337,589 (inclusive of all applicable taxes) for

of Jam & Sterm.

M. J

Page 3 of 4



S/N

Discussion & Decisions

Lot#02 (Installation of Split Inverter Air Conditioning Units (18000 BTUs) (04 Nos) & Floor-Standing Inverter Air (24000 BTUs) (04 Nos). Accordingly, the Procurement Committee recommended the award of the lot wise contracts to the lowest evaluated firms after completing all formalities required in the RFQ document.

Decision & Recommendations for Award of Contracts.

The Procurement Committee evaluated and cleared the Quotation Evaluation with M/s. Al- Fatah Associates for Procurement of LOT-1 (Split Inverter Air Conditioning Units (18000 BTUs) - 04 Units, Floor-Standing Inverter Air Conditioning Units (24000 BTUs)-04 Units) at a total cost Rs. 1,808,000/- (inclusive of all applicable taxes), and M/s. ServElectric for procurement of Lot#02 (Installation of Split Inverter Air Conditioning Units (18000 BTUs) (04 Nos) & Floor-Standing Inverter Air (24000 BTUs) (04 Nos) at total cost of Rs. 1,337,589 (inclusive of all applicable taxes) for and recommended issuance of Notification of Awards and subsequently signing of the lot wise Contracts.

Waqar Hussain

Specialist Procurement PMIU-PAHP

Muhammad Aamer Nazeer

Sr. Specialist Procurement PMIU-PAHP

Representative of PHATA

Muhammad Usman

Manager (Admin & Accounts)
PMIU-PAHP

Asif Igbal

Manager Procurement
The Urban Unit

Sr. Specialist Financial Management

PMIU-PAHP

Imran Ali Sultar

Program Director

PMIU-PAHP

Program Management & Implementation Unit (PMIU) Punjab Affordable Housing Program (PAHP) Government of the Punjab



Quotation Evaluation Report

Procurement of Goods

Request for Quotations
Supply & Installation of Split and Floor Standing Inverter
Air Conditioning Units
Lot-1 Split Inverter Air Conditioning Units (18000 BTUs) - 04 Units , Floor-Standing Inverter Air Conditioning Units (24000 BTUs)-04 Units
Lot-2 Installation of Split Inverter Air Conditioning Units (18000 BTUs) (04 Nos) & Floor-Standing Inverter Air (24000 BTUs) (04 Nos)

Program Management and Implementation Unit (PM&IU)
Punjab Affordable Housing Program

June 17, 2025

Sum

8

M M

BACKGROUND

The Government of Punjab has received Credit No. 7043 - PK from the International Development Association (IDA) towards the cost of the Punjab Affordable Housing Program (PAHP). The Program is being implemented through a Program Management & Implementation Unit (PMIU) under the Housing Urban Development and Public Health Engineering (HUD&PHE) Department with Urban Sector Planning & Management Service (Pvt.) Ltd. (The Urban Unit - Government of Punjab) and PHATA (Punjab Housing and Town Planning Agency) as co-implementing agencies.

The PMIU of the World Bank-funded Punjab Affordable Housing Program (PAHP) invited quotations for the Procurement of Goods for Procurement of Goods Supply & Installation of Split and Floor Standing Inverter Air Conditioning Units Lot-1 Split Inverter Air Conditioning Units (18000 BTUs) - 04 Units , Floor-Standing Inverter Air Conditioning Units (24000 BTUs)-04 Units Lot-2 Installation of Split Inverter Air Conditioning Units (18000 BTUs) (04 Nos) & Floor-Standing Inverter Air (24000 BTUs) (04 Nos) at a total estimated cost PKR 3.58 Million Therefore, procurement was processed through Request for Quotations (RFQs) method in accordance with World Bank Procurement Regulations 2020.

2. INVITATION FOR QUOTATIONS

The Request for Quotations (RFQs) was issued to potential firms and uploaded on the website of PMIU, PAHP on 13.06.2025 with the closing date of 17.06.2024 at 11:00 AM.

3. SUBMISSION OF QUOTATIONS

The date and time for submission of quotations was fixed for **17.06.2025** at **11:00 A.M**. The quotations from the following firms were received on the fixed date and time in response to Request for Quotation; (receipt record is attached as **Appendix-1**):

Lot#	Description of Procurement	Qty	Name of Participated Firm
	Split Inverter Air Conditioning Units (18000 BTUs) - 04 Units ,	04	i. Al- Fatah Associates ii. Pakistan best Services
LOT - 1		04	iii. SBG Enterprises
LOT-T	Floor-Standing Inverter Air		iv. Azan Traders
	Conditioning Units (24000 BTUs)-04 Units	04	v. ServElectric Proprietor
	Installation of Split Inverter Air		i. ServElectric Proprietor
LOTA	Conditioning Units (18000 BTUs) (04	00	ii. Pakistan best Services
LOT-2	Nos) & Floor-Standing Inverter Air	80	iii. SBG Enterprises
	(24000 BTUs) (04 Nos)		iv. Azan Traders

4. OPENING OF QUOTATIONS

Sealed quotations of above referred participating firms were opened on 17.06.2025 at 11:30 A.M by the Procurement Committee in committee room of PMIU - PAHP, 608, Shaheen Complex, Lahore in presence of representatives of the firms who wished to attend. The name of firms and their quoted brands/make/model and quoted prices were announced and recorded as per detail given below.

Jesterm, &

M M

	Lot#01: Split Inverter Air Conditioning Units (18000 BTUs) - 04 Units,Floor-Standing Inverter . Conditioning Units (24000 BTUs)-04 Units				
Sr. No.	Name of Firm	Quoted Brand/Model	Quoted Price (Inclusive Taxes)		
1	M/s. Al- Fatah Associates	i. Haier Inverter HSU-19HFAB T-3 ii. Haier Inverter Cabinet HP 24 HE	1,808,000/-		
2	M/s. ServElectric Proprietor	i. Haier Inverter HSU-19HFAB T-3 ii. Haier Inverter Cabinet HP 24 HE	2,242,000/-		
3	M/s. Pakistan best Services	i. Gree 15. Ton GS-18FIT H5WBii. Hisense AC Floor Standing Inverter 2.0 Ton 24UR4RJJ1	2,548,800		
4	M/s. Azan Traders	i. 18HRFN-8 (1.5 Ton) Midea E Seriesii. Midea (2 Ton) E Series MSCBIDU 24	2,652,640		
5	M/s. SBG Enterprises	i. Gree 1.5 Ton GS-18FITH1C ii. Gree 2.0 Ton GF-24TFIH	2,832,000		
	2 Installation of Split ing Inverter Air (24000 E	Inverter Air Conditioning Units (18000 B BTUs) (04 Nos)	BTUs) (04 Nos) & Floor-		
1	M/s. ServElectric Proprietor	Customized	1,361,189		
2	M/s. Pakistan best Services	Customized	1,844,163		
3	M/s. Azan Traders	Customized	1,972,960		
4	M/s. SBG Enterprises	Customized	2,148,072		

5. QUOTATION EVALUATION CRITERIA

The Procurement Committee evaluated the quotations based on following parameters as mentioned in the RFQ documents;

- i. Offers the lowest evaluated price/s.
- ii. Active NTN / PST / PRA Registration Certificate.
- iii. Certificate that the firm has neither been black-listed by any Government / Semi Government Organization, nor in litigation.
- iv. Must have three (03) years of relevant experience in supply of similar nature of Services.
- v. Attaches Copies of three (03) verifiable PO/WO/Contracts showing successful supply of similar
 - Services during the last three (03) years.
- vi. Compliance with the technical specification

6. QUALIFICATION OF THE FIRMS

A. LOT#01 Split Inverter Air Conditioning Units (18000 BTUs) - 04 Units , Floor-Standing Inverter Air Conditioning Units (24000 BTUs)-04 Units

Sr. No.	Qualification of Firms	M/s. Al- Fatah Associates	M/s. ServElectric Proprietor	M/s. Pakistan best Services	M/s. Azan Traders	M/s. SBG Enterprises
01	Active	✓	✓	✓	✓	✓

Jeffer V Frim



W

M

	NTN/PST/PRA Registration Certificate.					
02	Provides a certificate that the firm has neither been black listed by any Government / Semi Government Organization, nor in litigation.	✓	✓	✓	√	✓
03	Must have three (03) years of relevant experience in supply of similar nature of Services.	✓	✓	√	✓	✓
04	Attaches Copies of three (03) verifiable PO/WO/Contracts showing a successful supply of similar Services during the last three (03) years	✓	√	√	✓	✓
05	Compliance with the technical specifications	√	√	✓	√	√

B. <u>Lot#02 Installation of Split Inverter Air Conditioning Units (18000 BTUs) (04 Nos) & Floor-Standing Inverter Air (24000 BTUs) (04 Nos)</u>

Sr. No.	Qualification of Firms	M/s. ServElectric Proprietor	M/s. Pakistan best Services	M/s. Azan Traders	M/s. SBG Enterprises
01	Active NTN/PST/PRA Registration Certificate.	✓	✓	✓	✓
02	Provides a certificate that the firm has neither been black listed by any Government / Semi Government	✓	✓	✓	√
	Jefun)	Jan,		& N	

	Organization, nor in litigation.				
03	Must have three (03) years of relevant experience in supply of similar nature of Services.	V	✓	√	✓
04	Attaches Copies of three (03) verifiable PO/WO/Contracts showing a successful supply of similar Services during the last three (03) years	✓	✓	✓	✓
05	Compliance with the technical specifications	✓	✓	√	✓

VII. ARITHMETIC CHECK AND CORRECTIONS

The quotations were checked arithmetically, and corrections have been applied where required. The details of arithmetic corrected bids have been summarized as the status of the firms is given as below.

	10 00000		
Sr. No.	Name of Firm	Arithmetic Corrected Price (Inclusive of taxes) in PKR	Status of firm
LOT#01	Split Inverter Air Conditioni	ng Units (18000 B	rus) - 04 Units , Floor-Standing Inverter Air
Conditio	oning Units (24000 BTUs)-04	Units	
01	M/s. Al- Fatah Associates	1,808,000/-	The firm is selected being lowest evaluated and most advantageous firm.
02	M/s. ServElectric Proprietor	2,242,000/-	The firm is ranked as 2 nd due to comparatively higher price.
03	M/s. Pakistan best Services	2,548,800	The firm is ranked as 3 rd due to comparatively higher price.
04	M/s. Azan Traders	2,652,640	The firm is ranked as 4 th due to comparatively higher price.
05	M/s. SBG Enterprises	2,832,000	The firm is ranked 5 th due to comparatively higher price.
Lot#02	Installation of Split Inverter	Air Conditioning	Units (18000 BTUs) (04 Nos) & Floor-Standing
	Air (24000 BTUs) (04 Nos)		
01	M/s. ServElectric Proprietor	1,337,589	The firm is selected being lowest evaluated and most advantageous firm.
02	M/s. Pakistan best Services	1,844,163	The firm is ranked as 2 nd due to comparatively higher price.
03	M/s. Azan Traders	1,972,960	The firm is ranked as 3 rd due to comparatively higher price.
04	M/s. SBG Enterprises	2,148,072	The firm is ranked as 4th due to comparatively highest price.

Jufus)

J. Kum

& K W

VIII. **PRICE VALIDITY**

The price validity period of 45-days from the date of quotation opening was specified in the RFQ document by all three firms.

VIII. COMPLIANCE WITH ELIGIBILITY REQUIREMENTS

The firm's compliance as per qualification criteria mentioned in the RFQ document was checked and found in line with the requirements of eligibility for the assignment.

IX. COMPARATIVE STATEMENT

The comparative statement of the firms based on technical specifications and quoted prices is placed at Appendix-2 and the detailed evaluation of technical specifications are attached at Appendix-3

X. CONCLUSIONS AND RECOMMENDATIONS.

Based on the detailed evaluation, it was concluded that M/s. Al Fatah Associates has submitted the lowest evaluated prices of Rs. 1,808,000/- (inclusive of all applicable taxes) for LOT-1 (Split Inverter Air Conditioning Units (18000 BTUs) - 04 Units, Floor-Standing Inverter Air Conditioning Units (24000 BTUs)-04 Units), and M/s. ServElectric Proprietor has submitted the lowest evaluated price of Rs. 1,337,589/- (inclusive of all applicable taxes) for Lot#02 (Installation of Split Inverter Air Conditioning Units (18000 BTUs) (04 Nos) & Floor-Standing Inverter Air (24000 BTUs) (04 Nos) inclusive of all applicable taxes. Accordingly, the Procurement Committee recommended the award of the lot wise contracts to the lowest evaluated firms after completing all formalities required in the RFQ document.

Waqar Hussain Specialist Procurement PMIU-PAHP

Muhammad Aamer Nazeer Sr. Specialist Procurement

PMIU-PAHP

Hamza Abdul Rauf Manager Procurement The Urban Unit

Representative of PHATA

Muhammad Usman

Manager (Admin & Accounts)

PMIU-PAHP

Asif labal

Sr. Specialist Financial Management

PMIU-PAHP

Imran Ali Sultan Program Director PMIU-PAHP



Receipt of quotations for Supply & Installation of Split and Floor Standing Inverter Air Conditioning Units

Dated: 17.06.2025 (11:00

A BAY	

	AWI)		
Lot#	Description of Procurement	Qty	Name of Participated Firm
	Split Inverter Air Conditioning		i. Al- Fatah Associates
	Units (18000 BTUs) - 04 Units ,	04	ii. Pakistan best Services
LOT - 1			iii. SBG Enterprises
	Floor-Standing Inverter Air		iv. Azan Traders
	Conditioning Units (24000	04	v. ServElectric Proprietor
	BTUs)-04 Units		
	Installation of Split Inverter Air		i. ServElectric Proprietor
	Conditioning Units (18000 BTUs)		ii. Pakistan best Services
LOT-2	(04 Nos) & Floor-Standing	08	iii. SBG Enterprises
	Inverter Air (24000 BTUs) (04		iv. Azan Traders
	Nos)		

Specialist Procurement

Senior Specialist Procurement



Comparative Statement Lot-1 Split Inverter Air Conditioning Units (18000 BTUs) - 04 Units , Floor-Standing Inverter Air Conditioning Units (24000 BTUs)-04 Units

Sr. #	Name of Firm	Description of Quoted Br		Unit Price	Qty	Total Price	
Lot-1	Split Inverter Air Conditioning	<u> Units (18000 BTUs) - 04 Units , Floor-Sta</u>	nding Inverter Air Conditi	oning Units (2	4000 B	TUs)-04 Units	
1	M/s. Al Fatah Associates	Haier Inverter HSU-19HFAB T-3		165,000	4	660,000	
		Haier Inverter Cabinet HP 24 HE		287,000	4	1,148,000	
	Total Cost						
					GST	-	
	Total price (inclusive of all applicable taxes)						
2	M/s. ServElectric Proprietor	Haier Inverter HSU-19HFAB T-3		180,000	4	720,000	
		Haier Inverter Cabinet HP 24 HE		295,000	4	1,180,000	
			Total Cost			1,900,000	
			Tr.		GST	342,000	
			Total price (inclusive of	all applicable t	axes)	2,242,000	
	M/s. Pakistan best Services	Gree 15. Ton GS-18FIT H5WB		210,000	4	840,000	
3		Hisense AC Floor Standing Inverter 2.0	Ton 24UR4RJJ1	330,000	4	1,320,000	
	Total Cost						
GST						2,160,000 388,800	
	Total price (inclusive of all applicable taxes)					2,548,800	
4	M/s. Azan Traders	Midea E Series 18HRFN-8 (1.5 Ton)		220,000	4	880,000	
+		Midea (2 Ton) E Series MSCBIDU 24		342,000	4	1,368,000	
				Total	Cost	2,248,000	
				and the State of Stat	GST	404,640	
			Total price (inclusive of a	all applicable t	axes)	2,652,640	
5	M/s. SBG Enterprises	Gree 1.5 Ton GS-18FITH1C		225,000	4	900,000	
, 		Gree 2.0 Ton GF-24TFIH		375,000	4	1,500,000	
Total Cost						2,400,000	
GST					432,000		
Total price (inclusive of all applicable taxes)						2,832,000	

Humi,

4

Jefus)

price (inclu

Lot-2	2 Installation of Split Invert	Comparative Statement er Air Conditioning Units (18000 BTUs) (04 Nos) & Floor-Stand	ding Inverter Ai	ir (24000 BTI	ls) (04 Nos)	
Sr. #	Name of Firm	Description of Quoted Brands / Models	Unit Price	Qty	Total Price	
	M/s. ServElectric Proprietor	Cooper Pipe 22 Guage, Wire 110/76, Insolation Tape (Italian/American/Korian)	950	1085	1,030,750	
		AC Pipe Flare Nut 1/8 (Imported)	150	32	4,800	
		AC Pipe soldering	600	25	15,000	
1		AC Pipe Duct Plate length	150	100	15,000	
		AC outdoor Stands with complete frame (34"X14"X38") H.D.W	12000	4	48,000	
		AC installation (1.5 Ton=04 Units, and 2 Ton Floor Standing = 04 Units)	2500	8	20,000	
				Total Cost	1,133,550	
	GST					
		Total price (inclusi	ve of all applic	able taxes)	1,337,589	
	Pakistan Best Services	Cooper Pipe 22 Guage, Wire 110/76, Insolation Tape (Italian/American/Korian)	1300	1085	1,410,500	
		AC Pipe Flare Nut 1/8 (Imported)	300	32	9,600	
		AC Pipe soldering	750	25	18,750	
2		AC Pipe Duct Plate length	320	100	32,000	
		AC outdoor Stands with complete frame (34"X14"X38") H.D.W	15000	4	60,000	
		AC installation (1.5 Ton=04 Units, and 2 Ton Floor Standing = 04 Units)	4000	8	32,000	
				Total Cost	1,562,850	
				GST	281,313	
Total price (inclusive of all applicable taxes)						
3	M/s. Azan Traders	Cooper Pipe 22 Guage, Wire 110/76, Insolation Tape (Italian/American/Korian)	1380	1085	1,497,300	
		AC Pipe Flare Nut 1/8 (Imported)	500	32	16,000	

Them of

		AC Pipe soldering	900	25	22,500
		AC Pipe Duct Plate length	350	100	35,000
		AC outdoor Stands with complete frame (34"X14"X38") H.D.W	16300	4	65,200
		AC installation (1.5 Ton=04 Units, and 2 Ton Floor Standing = 04 Units)	4500	8	36,000
				Total Cost	1,672,000
GST					
		Total price (inclusi	ve of all appli	cable taxes)	1,972,960
		Cooper Pipe 22 Guage, Wire 110/76, Insolation Tape (Italian/American/Korian)	1500	1085	1,627,500
	SBG Enterprises	AC Pipe Flare Nut 1/8 (Imported)	450	32	14,400
3		AC Pipe soldering	900	25	22,500
		AC Pipe Duct Plate length	400	100	40,000
		AC outdoor Stands with complete frame (34"X14"X38") H.D.W	17000	4	68,000
		AC installation (1.5 Ton=04 Units, and 2 Ton Floor Standing = 04 Units)	6000	8	48,000
				Total Cost	1,820,400
				GST	327,672
Total price (inclusive of all applicable taxes)					2,148,072

Specialist Procurement

Senior Specialist Procurement